Assembly Instruction

Model : TR 22209

Hardware List

No| SHAPE DESCRIPTION Qy.
A & |8x25mm Dowel 43Pcs
ey  |15MM

B Myfix Minifix 16Sets
C| -w |M3.5x16mm Screw 14Pcs
D| wwmms® | M4x45mm Screw 10Pcs
E| <Xg |MT Stopper 4Pcs
F| =& |2 PinMagnet 2Sets
G| & | Shelf Support 8Pcs
H| S\ |Handle 0S128 2Pcs
| | cmme® | M4x28mm Screw 4Pcs
J| O |Sticker 6Pcs
K Q) | 5/8 Nait With Pin 6Pcs

Part List




- Assembly Instruction

& |8x25mm Dowel

43Pcs

Step 2

5 | Myfix

16Pcs

=

| 2 Pin Magnet

2Pcs




Assembly Instruction

Step 4

‘ B

@

Minifix

4Pcs

Step 5

M4x45mm Screw

4Pcs




Assembly Instruction

Step 8 |B| @2 |Minifix 2pcs | Step 9

J| ¢ | Sticker 3Pcs




Assembly Instruction

Step 11 | D| <mms | M4x45mm Screw 3Pcs

| Step 12 |K| @ |5/8 Nail With Pin 6Pcs




Assembly Instruction

Step 13

10Pcs‘

Step 14 [B Minifix




Assembly Instruction

Step 15 |G| & | Shelf Support 8Pcs

Step 16




Assembly Instruction

|
Step 17 [E

Xy | MT Stopper 2Pcs

<m@ | M3.5x16mm Screw 6Pcs




Assembly Instruction

Step 19

C| auxf® | M3.5x16mm Screw 1Pc

@y |2 Pin Magnet 1Pc

Step 20

S | Hsndle 0S128 1Pc

amn® | M4x28mm Screw 2Pcs




Assembly Instruction

Step 21

Ry | MT Stopper 2Pcs

Step 22

<@ | M3.5x16mm Screw 6Pcs

1




Assembly Instruction

Step 23 |C| <m@® | M3.5x16mm Screw 1Pc

F| @y |2 Pin Magnet 1Pc

Step 24

H| S | Hsndle 0S128 | 1Po
|| < | M4x28mm Screw 2Pcs

11




.




